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OPTION - A

( Programming in Visual Basic/Gambas)

Paper : CSC-HG-4016
GROUP - A
el -3

1. Answer the following questions : 1x7=7

(@)

(b)

(c)

(d)

(e)

When and who developed Visual
Basic ?
pfafes 2

DSN stands for

(Fill in the blank )

%asmawﬂm_
o (07T 3% 739 7)

What is a list box ?
Siferl R 52
What is project file ?
AT P g

What is Flexi gﬁd )
GFSide f

3 fem- 41008 €5 HG YA T Wy g

BEREEET

(0 . Debugging is the process of getting
an application to work correctly.
( Write whether True or False)

R Tz Bl IR ADFOIE TN
S R afeEa () 7 g )

(g) VB statements must be placed within
~ a single line.

(Write whether True or False)

VB Rz @i *if foses aRa afm |
‘ st @ g )

2. Answer the following questions : Ix4=8
were fral e Tey i g

- (@) Name the three special values in
Visual Basics. .

fegm @bee fofsr Redg wive s
(b} What is REM statement‘?

'REM f3fs &2
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(9.

. a text box based on_ ihe marks Of a
. student as follows '

_Mm&s>908&9070¢960@95059<50"

Outline a Visual Basic program for

displaying the grade of the 'student in

‘Grade SABCDE

Em~m$ﬁ=ﬁwaewr‘ﬁﬁi¢ﬁeﬁfﬁmﬁA

- A W (AT Ao T 1 R GRS
t¢wﬁaﬁﬁ“ﬁmﬂﬁﬂ§MFNNM%$ﬂ°.

?rﬂ‘q' > 9o Vo—ao Q0-9% Yo-Up @o—-d < QO

*@@SABCDE

. (d)

‘What is event procedure ?

| f%mﬁ3ﬂﬁﬁﬁ%v

3. Answer any three of the following

- questions :

5><3 15

wete fal Rizagear fofbr eim Tew fua 2

(@)

)

What does VarType() do? Write its
syntax.

VarType() 9 ﬁsw?-imw s foral |

What is a function ?,How is bit declaréd
and called ?

PG R AL, CIRA e g 1 2

3 -8 S 6 5,y WK XS 4

(c)

(d)

D1fferent1ate between general

. procedure and event procedure.

e S R T TR S AN
- | -

Whaf is select case ? Write its

~ general syntax.

(e)

w@@CWQﬁwimaﬂmﬁqaﬁsﬁmﬁ%ml

- Write the description and usage of

the Do-loop statement. -

| ‘~Do—loop e SR WW%’HI

(@)

3 (Sm 41000 5 HG 121045, chca KR Rc;c 5

GROUP-B
Wt -

.~ Answer any three of the following questions :

| 10x3—3o'

,@ﬁsﬁwtﬁammﬁﬁﬁWawaﬁwaﬁm

Explam any three controls in VB to

“manipulate data retneved from tables.

WMWWWWVB@W~

WWWWWI
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(b) Implement the VB program to
. malntam the employee information .
_ usmg MS ACCESS and ADODCI
" control (empno, ename dept_no,
' salary HRA, TA, DA and net salary)

MS ACCESS W® ADODCI control
g (empno, ename, dept no, salary HRA,

TA, DA % net salary) 929 R SO

5y W‘T aﬂ%a?a VB A AT |

- (c) .Why is ADODC control necessary_for )
. database conn'ectivity?

TIBIRES IR 3@ ADODC ﬁam ﬁm
em«ﬁa?

(d) Write a VB program to proceea the
grades of a student along with the
form design.

m%mamm-qmmqu
asﬁa?aVBmﬁw

3 em-41CBC3 C3C G 135 BN Ry ks

(e) Wirte a program to update database

with the help of VB form. The form
contains the name of employee, his
date of birth, total pay, total deductmn
and his-home address

VB fomﬁwmwm?ﬁﬁﬁ?ﬁkﬂﬁ _
S{Eal Rl | SIS IR N, (997 T OIR,
o 7, P T A (969 T D AT

Write a VB program to print thé o

discount based on the category

- Category D1scount

1 50% on MRP
2 - 40% on MRP-
3 30% on MRP
4 '20% on MRP :
'cama eﬂa@%f%?ﬁﬁ @ﬁi%ﬁﬁﬁiﬁuﬂm :
%ﬁmm |
1 . 50% 8?¥S MRP
2 - 40% S4¥S MRP
3 ~ 30% €S MRP .’
4 + 20% €S- MRP
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OPTION-B
( quomation Security and Cyber Laws)
Paper CSC—HG—4026 |

GROUP-A
- -t .—:? .

(@) Define digital signaturé; ,.
ﬁﬂ‘w@a e ﬁﬁ? o

(b) What is IP spoofing ? - |
| Wﬁﬁi ~{f¥Re ﬁs? |
()

is the art of dete
what is right and wrong anr(;mir:ll:::ll%
doing. the right thm

(lel in the blank)

WW%WWWWI
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- Answer. the fqllOwing questions : 11"7"‘7 :

%ﬂﬁ@%wm‘mjﬁeﬁw“’
(U 5% 931 79) |

(d A firewall is a secure "and - trusted

C

machine that -sits between a pnvate.'

- and public rietwork.

(State whether true or false)

Wmmwmmm.
R @Bt FRer® =iz o @B e 3R
AT It &7 g )
What is BIOS?

BIOS 2

_ Which protocol is used in ping.
"command ?

(ij UDP
(ii) TCP ~

“iii) ICMP

(iv) No‘ne'of the above

Ping command © TR 81'(.31?5?1 JIIH

UL

i) TfeH
Gi) &
(i) =EfHaaf

(iv) 8o (AR T
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(g) Accé”es’ing of data without having - ’
perrmssion is called

L m the blank)

W Wﬁm O AR BT
- SLl 373‘ 739 W) |
. _Answer the followmg questlons

 2x4=8

- (a) Distinguish betwee th
Disting n reats and

ﬂ{ﬁsmmﬂmmﬁqwl

(b)‘; What are data protectlon and prlvacy ?

\"QUWW C‘)‘n"@?]—f &

" (¢ What is the difference between law
and ethics ?

I A h%ma"mw ﬁ@.%?

(d) What is ethics for information
services ?

U G A TS Rt

3 n-4/BL8 G HG 14 RTOh G EfG 10 Contd- -

3. Answer any three of the. following
questions :

were Tt ﬁmmﬁﬁﬁrm%@ﬁm

" (a) What are the various crimes
'happemng using computer ?

Mﬁwﬁﬁ%ﬁﬁww&r
wafes e ¢

(b) Write different types_of eyber-,attacks.
RN 4@ BRI A Reca Bt
. (c) Write abont encryption and . .
decryption.
ERFHIH S Refieeio ﬁm frat

(d) Explain the difference between
: hyswal data security and software-
based data security. :

ST ©Y TTH A 55?5@3’(\_@?5 \oQU"
WW?ﬁ@WW\

3><5—15

(e) What is electronic data interchange
- (EDI) ? How does EDI work ?

RS Tl 0RO (EDI ﬁwm
carca’@swmr '

© 3 fem-4CBCS) CSC G 1213145, RCJICA mnic;m M 11




e e
GROUP-B
‘ : , 8. How do you mieasure software security * 2
3 At -9 ] Differentiate between Black Box Testing
4 Answer o | . and Whlte Box Testing. .
questio any three of the followlng b W Eﬁ'@@
ns: 10x3=30 ke cszrii?m s R @
Wﬁmﬁmmﬁﬁﬁrmwm I \ ™ (ofbes e 9"@’%‘“' _
What is information security ? What do ‘ > gllil;;;hort notes on any' two of _the |
you understand by security and threats , &
~ in information security ? ' : | ©oR Rl Fo 8RS Eﬁ‘» CT»WS %vn
@mwﬁs?@aﬂmﬁmﬂms@ﬁwﬁm. ‘ ~ (a) Software piracy
& 3o i . L L o EE\EC”W
] ‘ - Security standards
5. What is the dlfference among encoding,~ il Wﬂw .
encryption and hashing? (c) E-wallet
ISR, wfeEsa S
e TS Al Fe | S
6. How to secure information process ? Also~ e A (@ Spem
give example : o A ‘
oo elferl S TS zsﬁaw S e i
faai |
7. What is Firewall ? State the function of
Firewall in e-commerce.
Wﬁ??@rwwm{ﬁ‘i
ﬁmu ' I
- -0 06 S, P T G 13
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L OPTION-D
A Computer System Architecture )
Paper : CSC-HG-4046

. (0 Descri | .
- 'Covs:rl:li?e the Statutery provisions
;8 cyber defamation in India.

(@

‘What is intern:

e instelrrllltemet .marketing ? Explain -
What are tﬁte_ arketing strategies- ' | |
mal‘keting? adVantag¢S of internet . , (a) What'is Boqleém' algebra ?

1. Anéwer the folldvﬁng questjohs - 1x7=7

- l&} Diseygg (b) What do you mean by XOR gate?

Challenges if"%portumtles and o (c) What is logic diagram? .
| ~COj : : o , .
0 Deserir. mme;ce in India. : (d) What is stored in a program counter
: Scribe - . - ' > : .
e .payTnent';hetV?.HOUS electronic o : (PC)? }
oL ys} cms. . 1 . (e) What is accumulator?
; —_— () What is instruction set? .
(g)‘ What is flip-flop? -
- ' S : _ ! 2. Answer the folloWing que_stions . 2x4=8
1-' f S : ’ _ (a) Differentiate between combinational
J | circuit and sequential circuit.
[] (b) State ‘duality principle’. Give
/ - ' examples. . -
| / o | ‘ . ' D () Name three types of computer
‘ ' - ' - ~ instructions used in a basic - ;
/ S : a ) computer. '

(d) What is instruction format ? Name
: i_ts three most common fields.

3 - O 6 045 BT I G 17 ' Contd




3. Answer the: followin
= - foll . :
- three) OWing questions : (any

tareq  sxaels
(a} Simplify the Boolean function

F ) ' |
(4, g, C,D)=3(0,1,3,5,8,9,10,13, 14, 15)
by using K-map. S )

(b) Explgin'how digital computer
represents the character. Also
explain two types of such |
representation briefly.

C ... . .- .
( -) What is 1/0 interface ? What are the

needs for usi .
, ‘ ng | .
. computer ? 8 /O Interface . in

; : y s the com .
X . pute

o . Interrupt ? Explain it r handle an
(e)- Explain interrypt.
2 ‘nterrupt-driven |
vl . a Slmple diagram

initié.téd or’
/O with the help of

.

4. Ans'\}vér'
. , the follow; ~
three) o ng questions . (a
. i : (any

(a). Wh |
at are the five different 1o

used for the decig

Give thei:l'izg?: Sslgn 1;) f digital circuit ?
‘ ymbols g] :
e 2 S

gic gates

3 [Sem-4JCBCS) (SC g 13045, R teymeym kGG 18

()
@

e)

M-

Explain briefly about aﬁy five

different addressing modes that are.

used by the cqn"lputers'.

What do you"undérstand by machine
language ? Describe the basic concept
of assembly language.

with the help of a block diagram,
describe the components . of -a -tnicro-
pr'ogrammed control unit.

Draw the logic circuit along with truth
table or function table of the following :
o 5+5=10 -

i 3-to~ 8'1in'e decoder
@i SR or RS flip-flop '

Define stack. Explain the stack

'5 organization of a CPU by defining two
" methods of its implementation. Draw a
diagram showing the register stack. 4
2+5+3=10
) - X 6 45, A KGRI 6 19 ‘ " Contd
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OPTION E

l Intmdu cti L
on to Database Management Systems )

, Paper CSC—_HG-4056

1. Answg; th fTIT-RC—4016
. e i
o °110 & QUestmnS as directed :

(a) StOrlng eac

h 1o
9" place jp 4, gical data item in only
¢ database is known as

ata n°rmﬂhzan0n

o (State True or False) |
©
normalizati(,n C:Il;tqm CQIRIT@ data
[ ‘
) Enn (5% 7 ooF /‘?ﬁ/f)
. at tyPe
tr‘but Sf that d° not have key-
| €ir own are ‘calle
iiuﬁ (Fill in the blank)

3 -8 O 16 R B g ’
i ﬁqc 2
- 0

Cﬁ%@m E ,
key attributes FAF

-

(e) 2nd Normal Form (2NF) is based on

functional dependency.
‘ (Fill in the blank)

2nd Normal Form (2NF)
functlonal dependency 7 ToRe YIRS |

Wﬁ%‘fﬂv

| (d) . ERR stands for
: (Fill in the blank)

GRR G . e T
(ﬁéfiﬂ@rw).

and is used to’ create

le) __._._._-—-- comm
L (Fill in the blank)

new table in SQ

can be NULL :
.(State True or False) -

< W NULL = A -
(37 1 9SG ﬁ‘e/r)

(f) Primary key
| Primary key
(g) Project is an operator in relational

algebra. (State True or False)

Project & relaﬁonal algebra I G5 HIETF |
R éf? %39 1)

3 -5 S B 45, R BT 6 21




2,

Define the ;
Tt By ge foIIovt'rlng terms :
{a] DatabaSe
(b) DBMS

(c) Data independence
(d) Aftribute

2x4=8

Answer any thre

duestions : € of the following

5x3=15

(b) Differentiate betwe
MNLEER e o )
(i '
) Strong entity ang Weak
i veak enti
(i) Composite attrib o

: ut
valued attribute € and multi-

(e) How to convert an E

Answer any three o

(d) Define 1NF and 2NF.
INF i 2NF 9 et |
R diagram to

relational schema ?

ER diagram ¥ 79 relational schema C

o AR R A

f the following:
: 10x3=30

(a) Explain the architecture of DBMS.

DBEMS Fee[ 3l i

(b) What is a relationship type ? Explain
" the differences among a relationship
instance, a relationship type and a

relationship set.

Relationship type %9 relationship
instance, a relationship type€ m a
relationship setd siefayear el

fferent types of SQL?

() What are the di
t ith suitable

Explain any two W

constrai ' l integri
aint 9 & 3E3? X grity example.
SQL 7 fifen sRER fee fTE 7h] AP
1 - 410308 C8C G 1[H314F, RCJTCA eyReymn e 222 Sk M ""J‘{?ﬁ |
1 lfem-n WIREL fufy '
: 3 e 410pry '
Contd -41CBC8 050 1 13101
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